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Exercise

1. The graphs of y=P(x) are given below,for

some polynomials P(x).Find the number of

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_o70UHLHFbtbu


zeroes of P(x),in each case.

Watch Video Solution

2. The graphs of y=P(x) are given below,for

some polynomials P(x).Find the number of

https://dl.doubtnut.com/l/_o70UHLHFbtbu
https://dl.doubtnut.com/l/_5ply6R4D9ioC


zeroes of P(x),in each case.

Watch Video Solution

3. The graphs of y=P(x) are given in Fig.2.10

below,for some polynomials P(x).Find the

https://dl.doubtnut.com/l/_5ply6R4D9ioC
https://dl.doubtnut.com/l/_3mJjjWxS8P2a


number of zeroes of P(x),in each case.

Watch Video Solution

4. The graphs of y=P(x) are given in Fig.2.10

below,for some polynomials P(x).Find the

https://dl.doubtnut.com/l/_3mJjjWxS8P2a
https://dl.doubtnut.com/l/_gDMHpXVgNEz1


number of zeroes of P(x),in each case.

Watch Video Solution

5. The graphs of y=P(x) are given in Fig.2.10

below,for some polynomials P(x).Find the

https://dl.doubtnut.com/l/_gDMHpXVgNEz1
https://dl.doubtnut.com/l/_syi1zkd8k4Lc


number of zeroes of P(x),in each case.

Watch Video Solution

6. The graphs of y=P(x) are given in Fig.2.10

below,for some polynomials P(x).Find the

https://dl.doubtnut.com/l/_syi1zkd8k4Lc
https://dl.doubtnut.com/l/_xKLVwFUMbuLo


number of zeroes of P(x),in each case.

Watch Video Solution

7. Find the zeroes of the following quadratic

polynomials and verify the relationship

https://dl.doubtnut.com/l/_xKLVwFUMbuLo
https://dl.doubtnut.com/l/_z9f0gZdYYpTu


between the zeroes and the coefficients:(i)

Watch Video Solution

x2 − 2x − 8

8. Find the zeroes of the following quadratic

polynomials and verify the relationship

between the zeroes and the coefficients:(ii)

Watch Video Solution

4s2 − 4s + 1

https://dl.doubtnut.com/l/_z9f0gZdYYpTu
https://dl.doubtnut.com/l/_ZGXNzYOO2aOx


9. Find the zeroes of the following quadratic

polynomials and verify the relationship

between the zeroes and the coefficients:(iii)

Watch Video Solution

6x2 − 3 − 7x

10. Find the zeroes of the following quadratic

polynomials and verify the relationship

between the zeroes and the coefficients:(iv)

4u2 + 8u

https://dl.doubtnut.com/l/_aLMPSANWmF9X
https://dl.doubtnut.com/l/_4J442SDhFqKH


Watch Video Solution

11. Find the zeroes of the following quadratic

polynomials and verify the relationship

between the zeroes and the coefficients:(v)

Watch Video Solution

t2 − 15

12. Find the zeroes of the following quadratic

polynomials and verify the relationship

https://dl.doubtnut.com/l/_4J442SDhFqKH
https://dl.doubtnut.com/l/_4MtYPrE5BIcH
https://dl.doubtnut.com/l/_4U1jfisuGWm3


between the zeroes and the coefficients:(vi)

Watch Video Solution

3x3 − x − 4

13. Find a quadratic polynomial each with the

given numbers as the sum and product of its

zeroes respectively:(i)1/4,-1

Watch Video Solution

https://dl.doubtnut.com/l/_4U1jfisuGWm3
https://dl.doubtnut.com/l/_m0fsFmYHr17y


14. Find a quadratic polynomial each with the

given numbers as the sum and product of its

zeroes respectively:(ii)

Watch Video Solution

√2,
1

3

15. Find a quadratic polynomial each with the

given numbers as the sum and product of its

zeroes respectively:(iii)

Watch Video Solution

0, √5

https://dl.doubtnut.com/l/_YWGP0v2CVYm1
https://dl.doubtnut.com/l/_ikH9xUOAsrMc
https://dl.doubtnut.com/l/_62K9Ru9CgfGG


16. Find a quadratic polynomial each with the

given numbers as the sum and product of its

zeroes respectively:(iv)1,1

Watch Video Solution

17. Find a quadratic polynomial each with the

given numbers as the sum and product of its

zeroes respectively:(v) -1/4,1/4

Watch Video Solution

https://dl.doubtnut.com/l/_62K9Ru9CgfGG
https://dl.doubtnut.com/l/_RhVjFGF0aKe7
https://dl.doubtnut.com/l/_sAfqdnzX1vbi


18. Find a quadratic polynomial each with the

given numbers as the sum and product of its

zeroes respectively:(vi) 4,1

Watch Video Solution

19. Divide the polynomial p(x) by the

polynomial g(x) and find the quotient and

remainder in each of the following:(i) `p(x)=x^3-

3x^2+5x-3,g(x)=x^2-2

Watch Video Solution

https://dl.doubtnut.com/l/_sAfqdnzX1vbi
https://dl.doubtnut.com/l/_JDtYtBekhCyy
https://dl.doubtnut.com/l/_mF6qs2JVoN2E


20. Divide the polynomial p(x) by the

polynomial g(x) and find the quotient and

remainder in each of the following:(ii)

Watch Video Solution

p(x) = x4 − 3x2 + 4x + 5, g(x) = x2 + 1 − x

21. Divide the polynomial p(x) by the

polynomial g(x) and find the quotient and

remainder in each of the following:(iii)

Watch Video Solution

p(x) = x4 − 5x + 6, g(x) = 2 − x2

https://dl.doubtnut.com/l/_mF6qs2JVoN2E
https://dl.doubtnut.com/l/_Ypf98KBc7jkg


22. Check whether the first polynomial is a

factor of the second polynomial by dividing

the second polynomial by the first polynomial:

(i) 

Watch Video Solution

t2 − 3, 2t4 + 3t3 − 2t2 − 9t − 12

23. Check whether the first polynomial is a

factor of the second polynomial by dividing

https://dl.doubtnut.com/l/_Ypf98KBc7jkg
https://dl.doubtnut.com/l/_XA5SKyXT2rzo
https://dl.doubtnut.com/l/_6ZksfQ26CCUm


the second polynomial by the first polynomial:

(ii)

Watch Video Solution

x2 + 3x + 1, 3x4 + 5x3 − 7x2 + 2x + 2

24. Check whether the first polynomial is a

factor of the second polynomial by dividing

the second polynomial by the first polynomial:

(iii)

Watch Video Solution

x3 − 3x + 1, x5 − 4x3 + x2 + 3x + 1

https://dl.doubtnut.com/l/_6ZksfQ26CCUm
https://dl.doubtnut.com/l/_ddaThg4urH0L


25. Obtain all other zeroes of

Watch Video Solution

3x4 + 6x3 − 2x2 − 10x − 5

26. On dividing  by a

polynomial g(x),the quotient and remainder

were x-2 and -2x+4,respectively,Find g(x)

Watch Video Solution

x3 − 3x2 + x + 2

https://dl.doubtnut.com/l/_s6vgn9bHLD4R
https://dl.doubtnut.com/l/_ieQFvM4FYM2G


27. Give examples of polynomials p(x),g(x),q(x)

and r(x),which satisfy the division algorithm

and (i) degp(x)=degq(x)

Watch Video Solution

28. Give examples of polynomials p(x),g(x),q(x)

and r(x),which satisfy the division algorithm

and (ii)deg q(x)=deg r(x)

Watch Video Solution

https://dl.doubtnut.com/l/_bWtcD2XRr1dX
https://dl.doubtnut.com/l/_BrsBOm25ArOX
https://dl.doubtnut.com/l/_I2ag2Tbb9Zeg


29. Give examples of polynomials p(x),g(x),q(x)

and r(x),which satisfy the division algorithm

and (iii)deg r(x)=0

Watch Video Solution

30. Verify that the numbers given along side of

the cubic polynomial below are their

zeroes.Also verify the relationship between the

zeroes and the coefficients in each case:(i)

Watch Video Solution

2x3 + x2 − 5x + 2, , 1, − 2
1

2

https://dl.doubtnut.com/l/_I2ag2Tbb9Zeg
https://dl.doubtnut.com/l/_WP8xciI8jq5H


31. Verify that the numbers given along side of

the cubic polynomial below are their

zeroes.Also verify the relationship between the

zeroes and the coefficients in each case:(ii)

, 2,1,1

Watch Video Solution

x3 − 4x2 + 5x − 2

32. Find a cubic polynomial with the sum,sum

of the product of its zeroes taken two at a

https://dl.doubtnut.com/l/_WP8xciI8jq5H
https://dl.doubtnut.com/l/_0Xsvbk0nknqd
https://dl.doubtnut.com/l/_9CU57mY2nIzp


time,and the product of its zeroes as 2,-7,-14

respectively.

Watch Video Solution

33. If the zeroes of the polynomial

 are a-b,a,a+b,find a and b.

Watch Video Solution

x3 − 3x2 + x + 1

34. If two zeroes of the polynomial

 are x4 − 6x3 − 26x2 + 138x − 35 2 ± √3

https://dl.doubtnut.com/l/_9CU57mY2nIzp
https://dl.doubtnut.com/l/_NjfpZEYOYmNw
https://dl.doubtnut.com/l/_iMtoSG0wb3RE


.find other zeroes.

Watch Video Solution

35. If the polynomial

 is divided by

another polynomial ,the

ramainder comes out to be x+a,find k and a.

Watch Video Solution

x4 − 6x3 + 16x2 − 25x + 10

x2 − 2x + k

https://dl.doubtnut.com/l/_iMtoSG0wb3RE
https://dl.doubtnut.com/l/_rYUUXA4Kd715


36. If  are the zeroes of the polynomial 

 then is____

A. 0

B. -1

C. 1

D. None of these

Answer:

Watch Video Solution

α, β

f(x) = x2 + x + 1 +
1

α

1

β

https://dl.doubtnut.com/l/_Fgu9mEOOgFBO
https://dl.doubtnut.com/l/_hmtfFG0Pmuey


37. The polynomial is

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

√x +
1

√x

x2 − 5x + 6√x + 3

x − x + x + 1
3
2

1
2

https://dl.doubtnut.com/l/_hmtfFG0Pmuey


38. The zeros of the polynomial

 are 


a) 
 b) 
 c) 
 d)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 − √2x − 12

3√2, 2√2 √2, − √2 3√2, − 2√2

−3√2, 2√2

3√2, 2√2

√2, − √2

3√2, − 2√2

−3√2, 2√2

https://dl.doubtnut.com/l/_FgmofgDuN0YT


Watch Video Solution

39. The zeros of the quadratic polynomial

 are 


a)equal
 b)positive
 c)Negative
 d)One positive

and one negative

A. equal

B. positive

C. Negative

D. One positive and one negative

x2 + 99x + 127

https://dl.doubtnut.com/l/_FgmofgDuN0YT
https://dl.doubtnut.com/l/_J51hQZgUn38g


Answer:

Watch Video Solution

40. The zeros of the quadratic polynomial

 are

A. Positive

B. Negative

C. equal

D. One positive and one negative

x2 + 88x + 125

https://dl.doubtnut.com/l/_J51hQZgUn38g
https://dl.doubtnut.com/l/_TAYFkL807GQj


Answer:

Watch Video Solution

41. If  has no real zeroes

and a+b+c<0,then

A. Cgt0

B. C=0

C. Clt0

D. None of these

p(x) = ax2 + bx + c

https://dl.doubtnut.com/l/_TAYFkL807GQj
https://dl.doubtnut.com/l/_EZHWZrkEtuXu


Answer:

Watch Video Solution

42. If the zeroes of the quadratic polynomial

,where and  are equal

then

A. c and a have the same sign

B. c and b have the same sign

C. c and a have opposite sign

D. c and have opposite sign

ax2 + bx + c a ≠ 0 c ≠ 0

https://dl.doubtnut.com/l/_EZHWZrkEtuXu
https://dl.doubtnut.com/l/_JK67asK7YHtj


Answer:

Watch Video Solution

43. If one of the zeroes of the quadratic

polynomial is negative of the

other,then

a) b=0 and c is negative
b) b=0 and c is positive

c)  and c is positive
 d)  and c is

negative

A. b=0 and c is negative

x2 + bx + c

b ≠ 0 b ≠ 0

https://dl.doubtnut.com/l/_JK67asK7YHtj
https://dl.doubtnut.com/l/_BYNN1fkw6WBl


B. b=0 and c is positive

C. 

D. `b!=0 and c is negative

Answer:

Watch Video Solution

b ≠ 0 and cispositive

44. If one zero of the quadratic polynomial

is 2,then the value of k is

A. 

kx2 + 3x + k

6

5

https://dl.doubtnut.com/l/_BYNN1fkw6WBl
https://dl.doubtnut.com/l/_PHbVztO4oW24


B. 

C. (

D. 

Answer:

Watch Video Solution

5

6

−6
)

5

−5

6

45. If -4 is a zero of the polynomial `x^2-x-x-

(2+2k) then the value of k is

A. 6

https://dl.doubtnut.com/l/_PHbVztO4oW24
https://dl.doubtnut.com/l/_BjiNK2agg8lL


B. 3

C. 9

D. -9

Answer:

Watch Video Solution

46. If one zero of the polynomial

 is -4,then the value of k is

A. 

(k − 1)x2 + kx + 1

4
3

https://dl.doubtnut.com/l/_BjiNK2agg8lL
https://dl.doubtnut.com/l/_udO2OgahqaG0


B. 

C. 

D. 

Answer:

Watch Video Solution

−4
3

5

4

−5

4

47. If one zero of be the

reciprocal of the other then the value of k is 

a)3
b)-3
c) 
d)

3x2 + 8x + k

1

3

−1

3

https://dl.doubtnut.com/l/_udO2OgahqaG0
https://dl.doubtnut.com/l/_iN4aimcSpzNO


A. 3

B. -3

C. 

D. 

Answer:

Watch Video Solution

1

3

−1

3

48. If one zero of the polynomial

,is reciprocalP (x) = (k2 + 4)x2 + 13x + 4k

https://dl.doubtnut.com/l/_iN4aimcSpzNO
https://dl.doubtnut.com/l/_YSVjy4073SvG


of the other then the value of k is 

a)1
b)2
c)-2
d)-1

A. 1

B. 2

C. -2

D. -1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YSVjy4073SvG


49. If the polynomial  is

divisible by ,then the

value of ab is

A. 1

B. -1

C. 1/c

D. 

Answer:

Watch Video Solution

f(x) = ax3 + bx − c

g(x) = x2 + bx + c

−1

c

https://dl.doubtnut.com/l/_7iAqEmcHEzpy


50. If  are the zeroes of 

,then


a) 
 b) 
 c)


d)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α, β

f(x) = 2x2 + 6x − 6

α + β + αβ = 0 α + β = αβ

α + β > αβ α + β < αβ

α + β + αβ = 0

α + β = αβ

α + β > αβ

α + β < αβ

https://dl.doubtnut.com/l/_VELry2YXOBll


51. If  are the zeroes of ,then

the value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α, β 2x2 + 5x − 9

α ⋅ β

5

2

−5

2

9

2

( − )
9

2

https://dl.doubtnut.com/l/_VELry2YXOBll
https://dl.doubtnut.com/l/_yBcdSSQlO596


52. If  are the zeroes of polynomial 

,then 

=

A. c

B. 1+c

C. 1-c

D. c-1

Answer:

Watch Video Solution

α, β

f(x) = x2 − p(x + 1) − c

(α + 1)(β + 1)

https://dl.doubtnut.com/l/_yBcdSSQlO596
https://dl.doubtnut.com/l/_aFZmj3pDetaA


53. If  be the zeroes of polynomial 

such that  then the

value of k will be 

a)6
b)9
c)12
d)-12

A. 6

B. 9

C. 12

D. -12

Answer:

α, β

x2 − 8x + k α2 + β2 = 40

https://dl.doubtnut.com/l/_aFZmj3pDetaA
https://dl.doubtnut.com/l/_DI4VvCoNfEUH


Watch Video Solution

54. If the product of two zeroes of the

polynomial  is

3,then its third zero is 

a) 
b) 
c) 
d)

A. 

B. 

C. 

D. 

P (x) = 2x3 + 6x2 − 4x + 9

3

2
−

3

2

9

2
−

9

2

3

2

−
3

2

9

2

−
9

2

https://dl.doubtnut.com/l/_DI4VvCoNfEUH
https://dl.doubtnut.com/l/_Wvj0CNyYPnYQ


Answer:

Watch Video Solution

55. Two zeros of polynomial

are zero then its third

zero is 

a/b

b/a

-b/a

d/c

ax3 + bx2 + cx + d

https://dl.doubtnut.com/l/_Wvj0CNyYPnYQ
https://dl.doubtnut.com/l/_kEBD0P7zYzrz


A. a/b

B. b/a

C. -b/a

D. d/c

Answer:

Watch Video Solution

56. If zeros of the polynomial

 are in A.P.thenx3 − 3px2 + qx − r

https://dl.doubtnut.com/l/_kEBD0P7zYzrz
https://dl.doubtnut.com/l/_FRYWWQ0NGjjm


A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

2p3 = pq + r

2p3 = pq − r

p3 = pq − r

57. If the zeroes of the polynomial

 are a-d,a and a+d then a+d

is 

x3 − 3x2 + x + 1

https://dl.doubtnut.com/l/_FRYWWQ0NGjjm
https://dl.doubtnut.com/l/_5slxGmGtUB2e


a)a natural number
 b)a rational number
 c)an

irrational number
d)an integer

A. a natural number

B. a rational number

C. an irrational number

D. an integer

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5slxGmGtUB2e


58. If , are the zeroes of the polynomial 

,then =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α, β

ax2 + bx + c α2 + β2

b2 − 2ac

a2

a2 − 2bc

b2

b2 + 2ac

a2

a2 + 2bc

b2

https://dl.doubtnut.com/l/_QTwJjCZmUghx
https://dl.doubtnut.com/l/_ObaQZB7y27M4


59. If , be the zeroes of the polynomial 

such that 

then k=

A. 2

B. -2

C. 3

D. -3

Answer:

Watch Video Solution

α, β

2x2 + 5x + k α2 + β2 + αβ =
21

4

https://dl.doubtnut.com/l/_ObaQZB7y27M4
https://dl.doubtnut.com/l/_yXG9KCQM4VYQ


60. If two zeroes of  are 

and  then its third zero is 


a)1
b)2
c)-1
d)-2

A. 1

B. 2

C. -1

D. -2

Answer:

Watch Video Solution

x3 + x2 − 5x − 5 √5

−√5

https://dl.doubtnut.com/l/_yXG9KCQM4VYQ


61. If  be the zeroes of the polynomial 

, then =?

A. 1

B. -1

C. -5

D. 30

Answer:

Watch Video Solution

α, β, γ

x3 − 6x2 − x + 30 αβ + βγ + γα

https://dl.doubtnut.com/l/_vFeIFNY3fg9Z
https://dl.doubtnut.com/l/_sUjxnHDHK5Ex


62. If ,are the zeroes of the polynomial 

 then =?


a)3
b)-3
c) 
d)

A. 3

B. -3

C. 

D. 

Answer:

Watch Video Solution

α, β, γ

2x3 + x2 − 13x + 6 αβγ

−1

2

−13

2

−1

2

−13

2

https://dl.doubtnut.com/l/_sUjxnHDHK5Ex
https://dl.doubtnut.com/l/_eOJJubE75nd5


63. If x+2 is a factor of  and

a+b=4 then

a=-1,b=5


a=5,b=-1


a=1,b=3


a=3,b=1

A. a=-1,b=5

B. b=5,b=-1

C. a=1,b=3

D. a=3,b=1

x2 + ax + 2b

https://dl.doubtnut.com/l/_eOJJubE75nd5


Answer:

Watch Video Solution

64. If ,are the zeroes of the polynomial 

,then =?



p/r


-p/r


r/p

-r/p

A. p/r

α, β, γ

x3 − px2 + qx − r + +
1

αβ

1

βγ

1

γα

https://dl.doubtnut.com/l/_eOJJubE75nd5
https://dl.doubtnut.com/l/_IcNIgzotItff


B. -p/r

C. r/p

D. -r/p

Answer:

Watch Video Solution

65. A Quadratic polynomial has three

zeroes.True or False

Watch Video Solution

https://dl.doubtnut.com/l/_IcNIgzotItff
https://dl.doubtnut.com/l/_HBa2AvlKYwpe


66. Polynomial  has two zeroes which

are equal in magnitude but opposite in sign.

True or False

Watch Video Solution

ax2 + c

67. Each polynomial has at least one zero. True

or False

Watch Video Solution

https://dl.doubtnut.com/l/_nkqEGElyXTdh
https://dl.doubtnut.com/l/_yJoSWex03ibj


Examples

68. State true or false:


We cannot find zeroes of polynomial 

Watch Video Solution

x4 + 16

69. Graph of polynomial will

intersect x axis exactly at two distinct points.

True or False

Watch Video Solution

x2 − 5x + 4

https://dl.doubtnut.com/l/_vk867yRjCSpJ
https://dl.doubtnut.com/l/_kh9LpkGWQZSt


1. Find the zeroes of the quadratic polynomial

 and verify the relation between

the zeroes and its coefficients.

Watch Video Solution

x2 + 7x + 12

2. Find the zeroes of the quadratic polynomial

 and verify the

relationship between the zeroes and its

coefficients.

Watch Video Solution

p(x) = 2x2 + 5x − 12

https://dl.doubtnut.com/l/_lm39cuxQiK9Q
https://dl.doubtnut.com/l/_tGl0cKoWOQv5


3. Find the zeroes of the quadratic polynomial

 and verify the

relationship between the zeroes and its

coefficients.

Watch Video Solution

p(x) = 4√3x2 + 5x − 2√3

4. Find the zeroes of the quadratic polynomial

 and verifyp(x) = abx2 + (b2 − ac)x − bc

https://dl.doubtnut.com/l/_tGl0cKoWOQv5
https://dl.doubtnut.com/l/_dwRhKRhzNXje
https://dl.doubtnut.com/l/_VSFFzxWAMSFj


the relationship between the zeroes and its

coefficients.

Watch Video Solution

5. If are the zeroes of the polynomial 

then find the following:

(i)

Watch Video Solution

α and β

p(x) = ax2 + bx + c

α2 + β2

https://dl.doubtnut.com/l/_VSFFzxWAMSFj
https://dl.doubtnut.com/l/_RtlKMGFxyMjd


6. If are the zeroes of the polynomial 

then find the following:

(ii)

Watch Video Solution

α and β

p(x) = ax2 + bx + c

α3 + β3

7. If are the zeroes of the polynomial 

then find the following:

(iii)

Watch Video Solution

α and β

p(x) = ax2 + bx + c

α4 + β4

https://dl.doubtnut.com/l/_eWAcIq0D06RC
https://dl.doubtnut.com/l/_kX6ARgCMgN15
https://dl.doubtnut.com/l/_dyeecF4PtaUH


8. If are the zeroes of the polynomial 

 then find the following:

(iv)

Watch Video Solution

α and β

p(x) = ax2 + bx + c

+
α

β

β

α

9. If  are the zeroes of the polynomial 

 then find the following:

(v)

Watch Video Solution

α and β

p(x) = ax2 + bx + c

+
1

α3

1

β3

https://dl.doubtnut.com/l/_dyeecF4PtaUH
https://dl.doubtnut.com/l/_Srn4RKw1taeb
https://dl.doubtnut.com/l/_7Zjcgg6Qn8G4


10. If are the zeroes of the polynomial

then find the following:

(vi)

Watch Video Solution

α and β

p(x) = ax2 + bx + c

+
α2

β2

β2

α2

11. If are the zeroes of the polynomial 

then find the following:

(vii)

Watch Video Solution

α and β

p(x) = ax2 + bx + c

+
α2

β

β2

α

https://dl.doubtnut.com/l/_7Zjcgg6Qn8G4
https://dl.doubtnut.com/l/_0ENqEO3ZeQ8i


12. If  are the zeroes of the quadratic

polynomial such that 

then find the value of k.

Watch Video Solution

α and β

p(x) = kx2 + 4x + 4

α2 + β2 = 24

13. If the sum of squares of zeroes of the

quadratic polynomial  are

40 then find the value of k.

Watch Video Solution

p(x) = x2 − 8x + k

https://dl.doubtnut.com/l/_iRIotfO6DBBf
https://dl.doubtnut.com/l/_eZCDF7tvn9xi
https://dl.doubtnut.com/l/_HVWWt9KXR3DR


14. Find the condition that the zeroes of the

polynomial may be

in arithmetic progression.

Watch Video Solution

f(x) = x3 − px2 + qx − r

15. Find the zeroes of the polynomial

 if it is given that

the product of the two zeroes is 12.

Watch Video Solution

p(x) = x3 − 5x2 − 2x + 24

https://dl.doubtnut.com/l/_HVWWt9KXR3DR
https://dl.doubtnut.com/l/_TrD4vM8rPysZ
https://dl.doubtnut.com/l/_w5Y8I8cVYgak


16. Find the values of a and b such that the

polynomial  is

divisible by .

Watch Video Solution

x4 + x3 + 8x2 + ax + b

x2 + 1

https://dl.doubtnut.com/l/_w5Y8I8cVYgak

